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1. (a) What do you mean by Pareto Efficiency ? Explain the concept of Pareto Efficiency using
Edgeworth Box.

(b) If all producers and consumers act as perfect competitors and a market exists for each and
every commodity, then Pareto efficient allocation of resources emerges. Discuss.
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2. (a) Discuss positive and negative externalities with suitable examples.



(b) A producer tends to overproduce a commodity than the socially optimal amount in the
presence of negative production externality. Explain.

2.(31) 3UGF 3EER0N & AY GellcHh 3R FAhRIcHS TEIAI3T W T=l Y|

() T TAATAT APRIcHS 3culed aeddar fr 3uieafa & aenfas &7 F ssead
AT O 3 3G FIAT &1 STTEAT HY |

3. (a) What are the six important conditions under which Market fails ? Briefly discuss any two
of them.

(b) Discuss the Allocation function and Distribution function of the Public Sector.
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4. (a) Discuss the features of Public goods using suitable examples.

(b) Describe the optimal amount of a Public good in partial equilibrium framework using
suitable diagram.
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5. (a) Both graphically and algebraically show the equilibrium output of a three sector economy
assuming investments, government expenditure and taxes to be autonomous.

(b) For a hypothetical economy following information is given :
C=100+0.8YD
G=100, T=50, 1=200 ;

Where C is consumption expenditure, G is government expenditure, T is taxes , I is Investments
and YD = (Y-T) is disposable income in the economy.



Find the equilibrium output, Y of the economy.
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6. Discuss the challenges in designing and implementation of Goods and Services Tax in India.
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